Respiratory Physiology Standards

PO2 of air = 0.21 = 160mmHg

PIO2 = 150mmHg

PAO2  = 100mmHg


PaO2 = 100mmHg
PvO2 = 40mmHg (75% sat)

PaCO2 = 40mmHg


PvCO2 = 45mmHg

Tidal Volume    f=400ml    m=500ml
Minute Resp Volume   f=4.8L   m-6.0L

Respiratory rate = 12 breaths/min

Total Lung Capacity = 5.8L

Residual Volume = 1.2L

V/Q ratio – normal is close to 1

Alveolar-arterial O2 difference – normal range is 4-15mmHg

Hb combines with 1.39ml O2 (1.34 with expression of different Hb isoforms)

Blood contains 15g Hb/dL

O2 capacity = 20.8 mL/dL
O2 saturation = 97.5%

CO has 210X the affinity of O2 for Hb

DO2 = 1.25 DCO  (Diffusing capacity)

Solubility of CO2 is 20X O2 solubility (it diffuses 20X faster)

CO2 transport = 10% dissolved, 30% carbamino proteins, 60% bicarbonate

[HCO3-] = 24mM

 [HCO3-]/PCO2 = 24/40

Thickness of the diffusion barrier = >0.5um

Lung compliance = 200 mL/cm H2O

Intrapleural pressure – less negative (greater) at the base of the lung

Alveolar pressure – negative through inspiration and atmospheric at end inspiration

FEV1 = 80% FEC

Ventilation increases 2-3L/min per 1mmHg rise in PCO2

Threshold of peripheral chemoreceptors to a decrease in PaCO2 is a value <60mmHg

